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z 7 239,163,586 215,218,239 23,945,347
200 M2l 8,487,629 5,947,143 2,540,486
220 24 Al KISl 4 3,122,557 582,071 2,540,486
221 TH&HOH 2t 22 45,140 21,000 24,140
221-03 ZRMA2AL S 45,140 21,000 24,140
[ o ] 45,140 21,000 24,140
<D > 41,315 15,000 26,315
OZBSMA B2 41,315 15,000 26,315
<MY > 3,825 6,000 ~2,175
OYd= H2(aetll) 3,825 6,000 A2,175
222 223 526,331 63,201 463,130
220-02 UBIRE D 526,331 63,201 463, 130
[ 2o ] 526,331 63,201 463,130
<AMD > 102,930 0 102,930
OSLYTHIAT A A 102,930 0 102,930
<sYUAST > 360,200 0 360,200
ORI YL Al (1H2) 360,200 0 360,200
223 JIEt+2 2,502,086 448,870 2,053,216
223-02 HaZIARAASZ 279,157 5,500 273,657
[ 2ors ] 279,157 5,500 273,657
<HED > 279,157 5,500 273,657
OYSISSHSSUEE HA2S2 8% 273,657 0 273,657
223-03 DENZ 66,870 53,810 13,060
[ o ] 66,870 53,810 13,060
<R > 53,280 43,500 9,780
OBENE 53,280 43,500 9,780
— ZOUEHAALUYLS A HNA DU DB TENR

2,390,0002 x221 4,780 0 4,780
—AEIHBRAYSAY DR 100,000 2024 2,000 0 2,000
—CRDSYSL B2 40,0002 *35021 14,000 11,000 3,000
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Oag BER 560 0 560
< OHETHLI D > 2,720 0 2,720
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B 500 BE3
Z: 510 2DEX3S
8 511 RNEX3ES CEEED
Z.op-g-2 0 &k o4 p[E-T" HR 2
500 B %3 85,478,376 85,786,949 308,573
510 2 DBX3E 69,033,786 69,223,940 A190, 154
208%x38 69,033,786 69,223,940 £190, 154
1-01 2DBE3 42,661,477 44,319,560 | A 1,658,083
Apta 2 | 42,661,477 44,319,560 | 1,658,083
ez > 187,610 206,678 ~19,068
ONBSH LX2lAe 48,540 52,608 £4,068
ONEE NAZSH A 0 15,000 ~15,000
HHXAD > 45,335 45,234 101
ONZT ZEIYPANAY 5B DA AR 6,311 6,210 101
oI > 148,213 44,374 103,839
OXIETHE A ALES 93,500 0 93,500
OS2FFLIISE H#5 AY 0 1,661 A1,661
Ol MERAE SHH AEHIA 12,000 0 12,000
ZOIME D > 8,569,217 22,979,065 4,409,848
Ogs+g 18 422,833 605,598 ~182,765
ORI 2 ALS] A bl 2 368,309 352,221 16,088
OMHZ X2 1,785,403 2,499,564 AT14,161
OAZ =X 83,000 60,000 28,000
CEE ST 0 300,000 300,000
OZHHZ X2 503,344 654,347 ~151,003
oggoEsR 908,866 1,173,702 264,836
OINE-ZHASNS 8,694,216 11,478,460 |  £2,784,244
ORMRTH X& 1,370 1,236 134
OJ=4+2X B2 2= 2o X 50,000 55,000 A5,000
OO0L0I S 201X & 89,405 151,904 262,499
O2BSOSNAAE N 7,780 7,842 ~62
Owolgntel &5 1,160,815 1,150,315 10,500
NES 2,822,399 2,794,649 27,750
OYYZHI X & 27,750 0 27,750
OLF T D > 10,954,848 8,902,248 1,962,600
OLPGASHHSI 2ZAY 150,000 0 150,000
OMENSHE Z&(X4) 2,737,200 2,437,200 300,000
OHE TH o Ol 2 AHRS (X1 ) 5,374,400 3,861,800 1,512,600
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SAAMS DY > 171,937 26,400
OftE2 Ao =<0 X& 14,524 26,400
sgash > 6,204,376 198,219
OsHESSHAAMN 2=AE X 0 25,000
Os&E1EXN SSAEXNEAY 0 85,000
OLsHAESH=HIXE 594,360 1,051
OsSHEXES (NERMEES) 29,934 N29,934
O=HlA=ESTUU XA 16,375 1,21
O=AS)|eC et 147,000 A 147,000
onuHxXE 56,145 77,554
Or e sXHMA& A 2,204 1,937
OAN&Z&0l SEMA 0 171,400
Oextata 3B HEE X & 0 12,000
SR 453,154 A61,762
OXME 243 N& 149, 146 A61,762
SMSs2EAE A > 527,567 546,486
O=sa=si 2208 24X 7,500 A 1,591
OF 5 ooyl Fulll= ESP 0 593,827
O3 A& JH&A2t 2 X& 0 9,450
OoxLY EQ=sEn =24l 36,000 236,000
o202 Batdlzsnsoz ]S 19,200 219,200
Oz SUMSANEXZEAY 0 0
1-02 29 - NSLHSEHEX=S 18,667,177 556,562
ABEs| 3 ] 18,667,177 556,562
SHASH > 4,082,100 A43,438
O=0l Et&=2 M=z AZA= M 100,000 A100,000
ONEMIRSHE Ed3t =8 175,000 56,562
< ZSHFSEZAE L > 2,554,000 600,000
OflY AXXMOFE ZEAY 0 300,000
OF=z SUMSAEZEANY 0 300,000
511-03 J132 6,237,203 911,367
A3 ] 6,237,203 911,367
M > 0 209,920
O+ SEE &1 0 209,920
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< HAMYAD > 809,615 728,545 81,070
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& 500 X3
2 520 Al - EHIEEXSS
8 521 Al ZHIEE3S (29 &)
Z-#-8-2 0l &t o pIE-E" HZE2
O&e az2eg N 1,350 1,170 180
OAZZoHe EXtuws K& 1,018 900 118
O=Z4d okt XI= 225 193 32
OEs30tsX&AHx X 1,667 1,680 A13
Okolgditel&s 464,326 460, 126 4,200
ORIt ZH X3 2,375 2,285 90
Ootol==20I X3 15,327 26,041 A 10,714
< BAAMY > 125,107 124,979 128
O8dd 28 otd MAdJ| HotA 2,871 2,743 128
< AHEDF > 1,105,570 1,099,000 6,570
OZY=AHX K& 3,330 0 3,330
OES+ FHIME 5,760 2,520 3,240
<A > 979,638 777,329 202,309
OXHHL S AL 379,000 183,000 196,000
O==2 32l 120,739 114,465 6,274
OXNgEe wse XA 1,439 1,404 35
< QHMTH I > 3,098,477 2,524,756 573,721
OId&lE 1008ts E5 At 4,520 35,000 30,480
OMHGHE 24 (X&) 912,400 812,400 100,000
OGHE THH Ol 2 AHR (KT ) 1,791,467 1,287,266 504,201
< EAAS Y > 225,995 226,494 A 499
OBAFBY EIHX 45 0 45
OHZHESBAHAHX A 16,953 15,853 1,100
O¢t2 Aot &0 K& 1,016 1,816 A 800
OO0l AIS X & 1,800 1,400 400
OXSAEl SBASSAMY 012 X & 16,428 17,928 A1,500
Ozl 2k =i A 363 132 231
OFgAYBe N 6,164 6,165 AT
OXYArgl BtEddE ZALZAIMA 2= 4,581 4,585 A4
OARSOLTAN ALZH AY X2 300 270 30
<sgAsSH > 1,886,413 1,764,921 121,492
Osge It stiis X& 73,425 74,525 A 1,100
SEVEEEEINEETEEEY 0 8,980 8,980
Ol XI & 2 60, 164 25,266 34,898
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2 520 Al - EHIEEXSS

8 521 Al ZHIEE3S (29 &)
Z-#-8-2 0l &t o pIE-E" HZE2

OFSA S KUK & AL 0 3,306 £3,306
O2EEE 0 4,800 A 4,800
OsZE0NEX SSAEXNEAY 17,000 0 17,000
OAN&&0 SEMH 77,130 0 77,130
OM12= EBiE Lt3el Tloi Mol =+l K& 10,650 0 10,650
< FoH > 2,501,851 2,959,363 AN457,512
OZAE o s N&E 90,000 102,000 A 12,000
OESE & 2EdAY 1,120 0 1,120
Olt==2 Xl XA 13,000 163,000 A 150,000
Ot &t SE ALY 35,400 115,400 80,000
OsNtMERE 2% 243t 788,000 1,000,000 A 212,000
O™z 24z X& 6,554 11,186 A4,632
< SSHHMsSHSEME L > 600,771 485,280 115,491
O=2s=X 828 24X 2,770 3,750 2080
OX=2M2t 2dH K& 15,880 12,060 3,820
oo &2 & 0 17,280 A 17,280
O&=Z SUNSAEXZLEAY 100,000 0 100,000
OALABHSAE HEXA 18,000 0 18,000
Ode=sl=s3s UWERIa 4 ¥ s34 N& 29,476 17,545 11,931
00 Ed=UASHUEHN 22,474,568 11,190,000 11,284,568
0 Bd==E 19,352, 148 10,640,000 8,712,148
711 0= 15,760,484 7,000,000 8,760,484
711-01 =MAHLAHZ 15,760,484 7,000,000 8,760,484
[ B3I ] 15,760,484 7,000,000 8,760,484
<MD > 15,760,484 7,000,000 8,760,484
O=HAHLO= 156,760,484 7,000,000 8,760,484
712 8ET0IE 3 3,591,664 3,640,000 A 48,336
712-01 2 D EXZ A= &N 2,523,382 2,800,000 N276,618
[ LetslA ] 2,523,382 2,800,000 AN 276,618
< WS > 2,498,389 2,800,000 A 301,611
O 310Xz MEETN 2,498,389 2,800,000 A 301,611
< ESHS2ZAE A > 24,993 0 24,993
OXlc| At A AN 22 A S Y 24,993 0 24,993
712-02 IS HIZE ZSAIS & H 1,068,282 840,000 228,282




B o700 R4
710 2EAY
g 712 MAZ0 e
-2 ol & p[E-L" HIDE 2
[ el | 1,068,282 840,000 228,282
<HeB > 1,068,282 840,000 228,282
O NEH 2 1,068,282 840,000 228,282
720 L= 1 of 3,122,420 550,000 2,572,420
721 Y3 3,122,420 550,000 2,572,420
721-03 7l E+al H 3,122,420 550,000 2,572,420
[ sl ] 3,122,420 550,000 2,572,420
<EAD > 22,420 0 22,420
Om48 Ses ®y3 22,420 0 22,420
<JEXHDB 3,000,000 450,000 2,550,000
OBR L 3,000,000 450,000 2,550,000




